
India: size and location 

Read the passage carefully and answer the question given 

below: 

India is a vast country. Lying entirely in the Northern Hemisphere. The 

main land extends between latitude 8°4’N and 37°6’N and longitudes 

68°7’E and 97°25’E. The Tropic of cancer divides the country into 

almost two equal parts. To the southeast and Southwest of the 

mainland, lie the Andaman and Nicobar islands and the Lakshadweep 

islands in Bay of Bengal and Arabian sea respectively. 

Answer each question: 

(Marks: 1) 

1. What is the value of northern most latitude of India? 

2. What is the value of eastern and western most longitude of India?  

3. What is the value of southern most latitude of India? 

4. Name two union territories given in the passage.  

5. What is the value of tropic of cancer?  

6. What is the southern most latitude of Andaman and Nicobar 

islands?  


